Tpotyapbl cneBa

064 - 305, (241 m), a/6, w. 1,0 m

Ha obountHe
[lopoxHble

orpaxaeHus cnesa .
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[MpoeKkT opraHn3aumn 4OPOXXHOrO ABUXEHMUA
c. MannHoska 11. ya. Yynbimckasn
0,000 - 0,345

1.

BI/IAI/IMOCTb B NpAMOM HanpasaeHun

<120

,ﬂ,OpO)KHaﬂ pa3mMeTKka crnpasa

1.1 (10 cm)
085 - 105, (20 m)

1.6 (10 cm)
105 - 155, (50 m)

1.5 (10 cm)
155 - 249, (94 m)

1.6 (10 cm)
249 - 299, (50 m)

Ha pasaenntensHomn
[lopo>kHble

orpaxaeHus cnpaea
Ha o6ounHe

TpoTyapbl cnpasa




TpoTyapb| cneBa 268 - 330, (62 m), a/6, w. 1,0m | | 338 -533,(194 m), /6, w. 1,0m | | |

Ha obountHe
[lopoxHble

orpaxaeHua cneBsa

Ha pasaenvtensHomn
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c. MannHoska 11. yn. Yynbimckas
0,315 - 0,662
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[MpoeKkT opraHnsaunm 4OPO>KHOTO ABUXKEHUS

BuanmmocTb B NpsAMOM HanpaBaeHumn g <170 = <160 @ <140 8 <120 &l <100 8 <120 8
16 (10 cm)
452 - 502,
,U,O O3KHas pa3MeTka cnpaea 1.6 (10 cm) 1.1 (10 cm) 1.7 (10 cm) 1.1 (10 cm) 52502, (50 M) 1.1 (10 cm) 1.7 (10 cm)
P P P 268 - 299, (31 M) 299 -319, (20 M) 319 - 345, (26 M) 345 - 365, (20 M) 16010 e 502 - 522, (20 M) 522 - 580, (58 M)
365 - 472, (107 m)

Ha pasaenntensHomn
[lopo>kHble

orpaxaeHusa crnpasa

Ha o6ounHe

TpoTyapbl cnpasa




Tpotyapbl cneBa | | | | 626 - 818, (192 M), a/6, w. 1,0 M

Ha obountHe
[lopoxHble

orpaxaeHua cneBsa

Ha pasaenvtensHomn
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0,632 - 0,813

UyspiMcKAV

[MpoeKkT opraHn3aumn 4OPOXXHOrO ABUXEHMUA
c. MannHoska 11. ya. Yynbimckasn

BI/IAI/IMOCTb B NpAMOM HanpasaeHun

1.7 (10 cm)

[JlopoxHasi pasmeTka crpasa 522 580, (58 )

Ha pasaenntensHomn
[lopo>kHble

orpaxaeHusa crnpasa

Ha o6ounHe

TpoTyapbl cnpasa 790 - 825, (35 m), a/6, w. 1,0 M




